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Using current technology, which type and speed of drives are best allocated for
archival purposes?

A. SSD

B. FC15k

C. Near line SAS 7.2k
D. IDE 5400

Answer: C

QUESTION: 67
What interlaces can be configured on LTO-6 tape drives?

A. 8Gb Fibre Channel or SCSI

B. 4Gb Fibre Channel or 6Gb SAS
C. 8Gb Fibre Channel or 6Gb SAS
D. 16Gb Fibre Channel or 6Gb SAS

Answer: C

QUESTION: 68
Which two of the following are types of FlashCopy? (Select two)

A. Peer-to-peer
B. Child-parent
C. Incremental

D. Multi-source
E. Reverse

Answer: C, E

QUESTION: 69

A small customer needs to upgrade their tape environment from Ultrium 4 to current
technology. The technical specialist is recommending the TS2900 to meet current and
future needs. Which of the following is the business value of the proposed solution?
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A. TS2900 supports replication

B. LTO technology provides for tape pooling

C. TS2900 can connect to System x, Power systems, and System z
D. LTO standard provides for backward compatibility

Answer: D

QUESTION: 70
On a DS3524, what is an advantage of Dynamic Disk Pools?

A. Uses Easy Tier to increase throughput

B. Significantly faster return to optimal state following a drive failure

C. Uses compression to define which drives should be used for segment placement

D. Uses thin provisioning to define which drives should be used for segment placement

Answer: B

QUESTION: 71

Calculating how quickly the business needs to recover will determine what kind of
preparations are necessary when implementing a business continuity plan. This target
for the resumption of product, service or activity delivery after an incident is defined
as:

A.RTO
B. RPO
C.RTC
D.RTP

Answer: A

QUESTION: 72
The technical development team at a local customer has recommended the IBM entry
storage solution that was presented. The next presentation will include IT management
and the 010. and they will need to see the business value in order to get the approvals
needed for the purchase order. What tool would provide the information needed for
this presentation?
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A. Disk Magic

B. Alinean

C. Power Calculator
D. Capacity Magic

Answer: B

QUESTION: 73
Which characteristic makes the IBM Storwize V3700 more efficient in fully loaded
data centers compared to Dell EqualLogic - PS4100E/4110E?

A. the Storwize V3700 offers more host interlaces

B. the Storwize V3700 offers different drive options

C. the Storwize V3700 is more efficient due to lower height of the system

D. the Storwize V3700 is more efficient because it produces less C02e kg pa

Answer: D

24



For More exams visit https://killexams.com -

KILLEXAMS.COM

Kill your exam at First Attempt.... Guaranteed!


http:http://killexams.com



